
 
 

NF 620max  , mm30max  , 6
d

D
c , dD 6 , MPaall 570 ,  GPaG 70

Solution 
 

a)  Wire diameter d = ?? 

25.1
6

615.0

464

164615.0

44

14










x

x

cc

c
K  

23

88

d

Fc
K

d

FD
K


  , 

2
max8

d

cF
Kall 

   

214.3

66208
25.1570

xd

xx
x ,  mmd 6.4

b)   Spring stiffness k = ?? 
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c)   Total number of coils N+2 = ?? 
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     Total number of coils = 10 + 2 = 12 turns 
 
d)  Solid length of spring = ?? 
     mmdNlengthsolid 8.596.4)112()1(_   
 
e)   Free length of spring = ??  if  P = 8 mm 
      mmxdPxNlengthFree 6.1006.4)128()(_   
 


